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1. Combinatrial Geometry (CQG)

1.1. Body O QOO
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2. 000000000 ucnaicgv.fOO00

ucnaicgv.fO OCGUUOOODODOOOO0O0O0O0ODOO0OODLOCGOOOOOOOO0OOD 40
goboooooobooogod

2.1.cGcUOOooog

g3gooobobooboboboooobobobooood

R
A
Outer vacuum (region 6)
Air region (region 5)
Al Cover (region 3)
Gap (region 2)
Nal (region 1)
1. 253MeV 5
-5.6 -0.6-0.5 0.0 7.62 8.12
Photon . / 13.12
Quarz window
(region 4)
O 3: ucnaicgv.fOO0DO0ODOO
00000000 ooooooogoooogad
RCC 1 0.00 0.0 0.0 0.00 0.0
7.62 3.81
RCC 2 0.00 0.0 -0.5 0.00 0.0
8.12 4.31
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8.72 4.41
RCC 4 0.00 0.0 7.62 0.00 0.0
0.5 4.31
RCC 5 0.00 0.0 -5.6 0.00 0.0
18.72 9.41
RCC 6 0.0 0.0 -10.0 0.0 0.0
30.0 12.0
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3. jooooobood

3.1.. 00000000: Step 1

egsbO OFortran0 00000000 Oegsh OO D DOUODODODOOOODDOODODODOOOOODODO
Oooo0ooDoDb0000u0D0d parameter 100 U0 Oinclude OO OOODOOOO0DO0O
Uo0D00000U0common00000O00ODO include000OD0ODODOODOO

egsh 0 OODOOODO include 00000000 Oinclude/OD 0000 00egs0 000000 OO
pegscommons/J pegs U O 00000 UOOOMNO auxcommons/U egs5 00 00U DOOOOOOOOODO
gooooboooooboobooboooobbboooboobobbboboooooobLoboboobOon
goooooooogr:

U000 OMortran DO OO000O0OOO0DOODOODOODOOOODOO EGS40000000OO
UU000D000000Oegsh U0 0UDOUOUOOOOODOOO0OODDODO Uinclude/egssh.£000
0000000 Oauxcommons/aux h.f 000 parameter 00 000000000000

O0000O0OeesDUODOOOMO include0O OO0

implicit none

include ’include/egs5_h.f’ ! Main EGS "header" file

include ’include/egs5_bounds.f’
include ’include/egsb5_edge.f’

*D00000O0Oegs5run DOOOOOOODODOODO



include ’include/egs5_media.f’
include ’include/egs5_misc.f’
include ’include/egsb_switches.f’
include ’include/egs5_uphiot.f’
include ’include/egs5_useful.f’
include ’include/randomm.f’

include ’include/egs5h.£2 00U DUOODOODUO0ODODOODO common OO DO OO include
0000000000000000000000000000o0Ot
coooOooO0obO0oCboboO0O0o0oO00oooboOoboOobOOO0b000bO00000 include0OOOO

include ’auxcommons/aux_h.f’ ! Auxiliary-code "header'" file

include ’auxcommons/edata.f’
include ’auxcommons/etalyl.f’
include ’auxcommons/instuf.f’
include ’auxcommons/lines.f’
include ’auxcommons/watch.f’

include ’auxcommons/etaly2.f’ ! Added SJW for energy balance

include ’auxcommons/geom_common.f’ ! geom-common file
integer irinn

000 includeD0 ODCGOODOOOOOOOCGUODODOOOODOODOODOOOODO
0bbo0000000 00000y common OO0 DOOOODO

common/totals/ ! Variables to score
* depe,deltae,spec(3,50) ,maxpict

real*8 depe,deltae,spec

integer maxpict

Uo0boobo0ob000000D0implicit noneJ0 000000000000 DOO0ODOODODODOO
gbobooboboobooboboboooboo

0000000000000 000D openU0D0egsh0 U Dpegsh 0000 OOOO0OOODOO
00000000000 Opegs0 00D D0O0O0OD0OO0ODO 7-2600close0000D000OD0O0ODOO0O
U000D0 openU0000DOpegs 000D OO0 open0O000ODODOOODODDODOODOOOODOO
v26000000000000

open(6,FILE="egs5job.out’,STATUS=unknown’)
open(4,FILE="egs5job.inp’ ,STATUS="0l1d’)
open(39,FILE="egs5job.pic’,STATUS="unknown’)

goog 330ooooobobooboooon
ooooooDoooDo0oobbobDbO000000 countersout(0) U callDO O

'Egs40 coMINOODDOODOOODOOOOO



32. 00000000: Step 2

00000000000 Characteristic Dimension D 000 0O 00 Opegss 0 call OO Omedarr
00000002400000000000000000024a0000000000000000O
0 24000 00 O Chracteristic Dimension0 00 000000000C0O0O0COOOOOOOCODO
O(lcmxlemx1lemOOOOOO0OO 1lem)000000O0

call block_set ! Initialize some general variables

medarr(1)=’NAI
medarr(2)=’AL

medarr (3)=’QUARTZ
medarr(4)=’>AIR-AT-NTP

v v e e

do j=1,nmed

do i=1,24

media(i,j)=medarr(j)(i:i)

end do
end do
chard(1) = 3.81d0 ! automatic step-size control
chard(2) = 0.1d0
chard(3) = 0.5d0
chard(4) = 5.0d0

write(6,*) ’chard =’,(chard(j),j=1,nmed)

write(6,100)
100  FORMAT(’ PEGS5-call comes next’/)

33. 00000000: Step 3

0000000 Db0o00bDb0ob00bdbOnprecidbooooooooboobbODOn
gooboooooo3sooboooouobooobboooobooboecGUoOooOoDbOUd e datall
00000000 CGOO00000000000eg0 00000000000 (OOO0OOO06) OO
U000000O00000000 geomgt U callOODODDOOCGHOOOODOODOOD End
of CGdataUDUDOODOOO0OO0DODOOO0DOODOOOOUDODLDODOODDOODDOOD
ifto003900000000PICTOOOODODOO0OODODODOD (CSTA-FREED O OCSTA)O OO0 DO
00 subroutine geomgt U0 0 CGUUOUOODDOOOOO0OOO0OOO0ODOOOODO CcGOOOO
Ub0ooobocendD 00000000000 DegLDODOO0ODOO0O0O0O0DODOD nregd
goooo

cGsGOoboboooooobbOoboOooooOoobbOoobbOooDbOobOon



write(6,*) ’Read cg-related data’

npreci=3 ! PICT data mode for CGView in free format
ifti = 4 ! Input unit number for cg-data
ifto = 39 ! Output unit number for PICT

write(6,fmt="(’ CG data’)")
call geomgt(ifti,6) ! Read in CG data
write(6,fmt="(’ End of CG data’,/)")

if (npreci.eq.3) write(ifto,fmt="(’CSTA-FREE’)")
if (npreci.eq.2) write(ifto,fmt="(’CSTA’)")

rewind ifti
call geomgt(ifti,ifto)! Dummy call to write geom info for ifto
write(ifto,110)

110  FORMAT(’CEND’)

nreg=izonin

JoooobooocGUOooooooooooooooooooooboooDooooooboooon
egsJO000O0O00ODODODO0ODOODODODOODODOODODUODODDODOODOOODODDODO
XOoooooooog

Ranlux 000000 inseed0 00000 OOOODOO0O

! Read material for each refion from egsbjob.data
read(4,*) (med(i),i=1,nreg)

! Set option except vacuum region

do 1=2,nreg-2
if(med(i) .ne.0) then

iphter(i) = 1 ! Switches for PE-angle sampling
iedgfl(i) = 1 ! K & L-edge fluorescence
iauger(i) = 0 ! K & L-Auger
iraylr(i) = 0 ! Rayleigh scattering
lpolar(i) = 0O ! Linearly-polarized photon scattering
incohr(i) = 0 ! S/Z rejection
iprofr(i) = 0 ! Doppler broadening
impacr(i) = 0 ! Electron impact ionization
end if
end do

Random number seeds. Must be defined before call hatch
or defaults will be used. inseed (1- 2731)

luxlev = 1
inseed=1
write(1,120) inseed
120  FORMAT(/,’ inseed=’,I12,5X,
* > (seed for generating unique sequences of Ranlux)’)

call rluxinit ! Initialize the Ranlux random-number generator



34.00000000: Step 4

00000000000000000000000000000000 (1.253MeV)0 00000
oooboobobooobbobboboboo cGUUbObO0000b0irin=o0 000000000 irin
goboboooooobooooooooobooobobobbobbo0ouo0birin=odnO
00000 irin0 CGOOOOOODOOOOOOODOODO

! Define initial variables for incident particle normally incident
! on the slab

iqin=0 ! Incident particle charge - photons
ekein=1.253 ! Incident particle kinetic energy

xin=0.0 ! Source position

yin=0.0

zin=-5.0

uin=0.0 ! Moving along z axis

vin=0.0

win=1.0

irin=0 ! Starting region (0: Automatic search in CG)
wtin=1.0 ! Weight = 1 since no variance reduction used

! pdf data for many source
deltae=0.05 ! Energy bin of response

if(irin.le.0.or.irin.gt.nreg) then
call srzone(xin,yin,zin,iqin+2,0,irin)
call rstnxt(iqin+2,0,irin)

end if

35. 00000000: Step b

0000000000000 0000000 emaxeOOOO0O subroutine hatchOO O Ohatch
OooO0b00o0o0o0o0o0ooOooO00ob0oO000ob00o0oO00o0bo0ooO00oO0o0b00ooDoO0ooO0b00ooOob0ooOoooa

emaxe = ekein + RM

write(6,130)
130  format(/’ Call hatch to get cross-section data’)

open(UNIT=KMPI,FILE=’pgs5job.pegsbdat’,STATUS="01ld’)
open(UNIT=KMPO,FILE=’egs5job.dummy’,STATUS="unknown’)

write(6,140)
140  FORMAT(/,’ HATCH-call comes next’,/)

3.6. 00000O0O0O0O: Step 6

ggbbobooooobooobobobobobooboooooooooobooobbbboboobob o
gooboobobOegbbo0obOoobOODODDOOODO0OOOOODOODODDODD



3.7.00000000: Step 7

ausgab0 0000000000000 OCO00O0OO0O0O0OO0O00OO00O000 (h0)0000000
NcasesU OO DOOOD0O0O Omaxpict0 000000 DOOOOODOO0ODODOODOOO

! Energy bin width
deltae=ekein / 50

! Zero the variables
depe=0.D0
pefs=0.D0
pef2s=0.D0
tefs=0.D0
tef2S=0.DO
do j=1,50
phs(j)=0.DO
ph2s(j)=0.D0
do ntype=1,3
spec(ntype, j)=0.D0
specs(ntype, j)=0.D0
spec2s(ntype,j)=0.DO0
end do
end do

! Set histories
ncases=10000

! Set maximum number for pict
maxpict=50

38. 00000000: Step 8

0000000000000 00000000 Oncases0 000000 subroutine shower U
call 00000000000 ONaIODOOOODODOO0DO0ooooobOoooooooooboono
0000000000000 wtin0OODO O0OD0OO0OD0OO0ODODOO0O0ODOOO 99.9% 000000000
0000000 wtinOOODOOODOODOODOOODODOODOOODOO0OO0O00OO0DOODOOO0OO
OwtinO0OOODODODOO0OOODOODODODOOOOODOOO0DOO0OODOOODO00OOOoOOOoOoOg
oo0ooooooooooo

! Write batch number
write(39,fmt="(’0 12)")

do i=1,ncases ! Start of shower call-loop

eparte = 0.d0 ! Initialize some energy-balance
epartd = 0.d0 ! tallying parameters (SJW)
ekin = ekein

wtin = 1.0

wtsum = wtsum + wtin ! Keep running sum of weights
etot = ekin + iabs(iqin)*RM ! Incident total energy (MeV)

if(iqin.eq.1) then
availke = ekin + 2.0%RM

Available K.E. (MeV) in system
for positron

else Available K.E. (MeV) in system
availke = ekin for photon and electron
end if

10



totke = totke + availke ! Keep running sum of KE

if (ncount .le. nwrite .and. ilines .le. nlines) then
ilines = ilines + 1
write(6,280) etot,xin,yin,zin,uin,vin,win,iqin,irin,idin
280 FORMAT (4G15.7/3G15.7,315)
end if

! Added for energy balance tests (SJW)
if (DABS(eparte + epartd - availke)/availke .gt. 1.d-10) then
write(6,290) icases, eparte, epartd
290 FORMAT(’Error on # ’,I16,’ Escape = ’,F9.5,
* > Deposit = ’,F9.5)
end if

! If some energy is deposited inside detector add pulse-height
! and efficiency.

if (depe .gt. 0.DO) then
ie=depe/deltae + 1
if (ie .gt. 50) 1ie = 50
phs(ie)=phs(ie)+wtin
ph2s(ie)=ph2s(ie)+wtin*wtin
tefs=tefs + wtin
tef2s=tef2s + wtin*wtin
if(depe .ge. ekein*0.999) then
pefs=pefs +wtin
pef2s=pef2s +wtin
end if
depe = 0.DO
end if
do ntype=1,3
do ie=1,50
specs(ntype,ie)=specs(ntype,ie)+spec(ntype,ie)
spec2s(ntype,ie)=spec2s(ntype,ie)+

* spec(ntype,ie)*spec(ntype,ie)
spec(ntype,ie)=0.D0
end do
end do
ncount = ncount + 1 ! Count total number of actual cases
! _______________________
end do ! End of CALL SHOWER loop

call plotxyz(99,0,0,0.D00,0.D00,0.D0,0.D0,0,0.D0)

write(39,fmt="(29’)") ! Set end of batch for CG View

3.81. ODO0ODO: 0000000D000DOOO0OCODODOOOOOOODOODOOOOO0O0OD
0000000000000 b00000000ucnaicgv.ft00 000000 MCNPOOODODOO
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39. 00000O00O0: Step 9

gobooobobooboboboooooboobobbobooooobooboobboobbon
goboboboobobobobooobuoobooobooboooooboboobobobbboo

avpe = pefs/ncount
pef2s=pef2s/ncount
sigpe=dsqrt ({pef2s-avpe*avpe)/ncount)
avpe = avpe*100.0
sigpe = sigpe*100.0
write(6,350) avpe,sigpe
350 FORMAT(® Peak efficiency =’,G11.4,°+-’,G9.2,’ }’)

avte = tefs/ncount
tef2s = tef2s/ncount
sigte = dsqrt((tef2s-avtexavte)/ncount)
avte = avtex100.0
sigte = sigtex100.0
write(6,360) avte,sigte
360 FORMAT(’> Total efficiency =’,G11.4,°+-’,G9.2,’ %)

12



write(6,370)
370  FORMAT(/’ Pulse height distribution ’)
do ie=1,50
elow=deltaex(ie-1)
eup=deltaex*ie
if (elow .gt. ekein ) go to 390

avph = phs(ie)/ncount
ph2s(ie)=ph2s(ie)/ncount

sigph=dsqrt ({ph2s(ie)-avph*avph)/ncount)
avph = avph/deltae

sigph= sigph/deltae

write(6,380) eup,avph,sigph

380 FORMAT(’> E (upper—edge --2,G10.4,’ MeV )=’,G15.5,’+-’,G15.5,
* ’ counts/MeV/incident’);
end do
390 continue

0b00oooodd NalOOOOgoooboooobooboobooboobboboboo
goooo

3.10. Subroutine ausgab

AusgABU OO Q0O ODOOO0ODOOO0ObOOO0bOOoOoObO0DbOObObOUDLobDbOOUDDbObOO
O000Oinclude D00 DOO0O0O0OOODOOODODODOO

iarg < 50000000000 DOODODODODOOOOOODOOODODOOODOD

00000 1(Na)D0O00000000000000000000000000000D0O0000
gooboobooooooooooooobbooboobooboboobobobDbObODbDbObOobOOn
goboooboboooooobooobobooooobobbOobbObO w0 OOO
Umaxpict 0000000000 0OO0ODOODODODO plotxyzD callODO DO

! Set some local variables
Il e -
ir(np)

iql = iq(np)

edepwt = edep*wt(np)

if (iarg .1t. 5) then
esum(iql+2,irl,iarg+1)
nsum(iql+2,irl,iarg+1)

esum(iql+2,irl,iarg+1) + edepwt
nsum(iql+2,irl,iarg+1l) + 1

! added SJW for particle by particle energy balance
if(irl.eq.1) then
eparte = eparte + edepwt
else
epartd = epartd + edepwt
endif
end if



! Score energy deposition inside Nal detector

if (med(irl). eq. 1) then
depe = depe + edepwt

if (irl .ne. irold .and. iarg .eq. 0) then
if (iql .eq. 0) then ! photon
ntype=1
ie = e(np)/deltae +1
if(ie .gt. 50) ie = 50
elseif (iql .eq. -1) then ! electron
ntype=2
ie = (e(np) - RM)/deltae +1
if(ie .gt. 50) ie = 50
else ! positron
ntype=3
ie = (e(np) - RM)/deltae +1
if(ie .gt. 50) ie = 50
end if
spec(ntype,ie) = spec(ntype,ie) + wt(np)
end if
end if

if (ncount .le. nwrite .and. ilines .le. nlines) then
ilines = ilines + 1
write(6,100) e(np),x(np),y(np),z(np),ulnp),vinp),wlnp),
* iql,irl,iarg
100 FORMAT (4G15.7/3G15.7,315)
end if

if (ncount.le.maxpict) then
call plotxyz(iarg,np,iq(up),x(np),y(np),z(np),e(np),ir(np),
* wt(np))
end if

return

end

3.11. Subroutine howfar

cGUUODO0oU0bOOooouob howfarODOODOODOOODOOO

OoooobDoD howfar OO0 00000 Onowfar0 000000000 0O0OOOOOOODOO
gobobooogobobooboooobbobooboooooooooobbboboboobboboo
goobooboboooooboooobobooooboobooboooon

O00O0ODhowfar U0 O0O0OO0O0O0ODOO0O0ODOODOODDOOO (ddisc=1) DDOOOODOUOOO
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4. ucnai.f 0 ucnaicgv. f 00000000

OOo0DO0O0O0O0D0O0O0000OD0ObOcgOOO00O0O0O000OO0OODOODOODODOO nowtard
coooooooooooOoboOoooooOoOooOoODOObOO0OOO0ODOODOOObOODOODDOODO
U000000 uenaifO uenaicgv.f D0 0000000000000 uwenaif000 1600000
O000o0oooooof)
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5. U0o0n

51. 000000ONaIODOOODODO
goboooobobooobobooooboboobbooobooo

1.0000Cs-1370000000000 (0.662MeV)0D0D0 OO
2.0000Co-6000001.173MeVO 1.333MeVUOODODOODOODOOOOOO

3.1.253MeVO 000000000 (2-00)00000000000000000O0C0O0ODOOOO
4.1.253MeV 000000 DOO0DOOO0DOODOOODOO 20000

52. 000000 GeODOOODODO
oobb0GeDOD0O0OO0OO0OO0ODOOO NalDD1253MeVOOODODOOOOOOOOODOO
gooooo

53. 0000000DLO0OOLOOODODO

gbooggz2ctlgboobobbodr2sMevOdoooboooooboooooooon
gooboobobooooobosbobooo3sboooooooobooooooDDAMmMO AlOO
ooobooobAlDbDDOoOooDO0sMxembDoooooooOoO

000 WO (33.97¢V/pair) D000 00000 10000000000000 (Coulomb/source)
000000000001.602x 107 C/e 0000
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6. Uoboooono

000000 Oucnaicgv.£f00000000000000 10000000000 (egs5job.out)d
0000000000 (D00 Onai.out)000000O00

6.1. 00000

1.Cs-137 00
e cp ucnaicgv.f ucnaicgvl.f
e cp ucnaicgv.data ucnaicgvl.data
e cp ucnaicgv.inp ucnaicgvl.inp
eucnaicgvl.f0 00000000000
— ucnaicgvl.f 00

ekein=1.253 ! Incident particle kinetic energy
g

ekein=0.662 ! Incident particle kinetic energy
gooooo

e ucnaicgvl.f U egsbrun 0O OO OO
ooob 400000 2s00000000000000000000000

e "Does this user code read from the terminal?’0 000 1000000

e 00 DOODOO Degsbjob.out DI O T1.253MeVI DO UOODOOOOODOOODOODODO
gooooooboobbooooooboobooboboooo

go0oodoon
00000 (Per) OO0 (Ten)
ucnaicgv 379+ 0.5 % 77.0+ 04 %
ucnaicgvl 59.5 + 0.5 % 87.5 £ 0.3 %

gooooboooboooboobbobbboooboboboboooooooboooon
goooooooboon

2. Co-60 source
e cp ucnaicgv.f ucnaicgv2.f
e cp ucnaicgv.data ucnaicgv2.data
e cp ucnaicgv.inp ucnaicgv2.inp
eucnaicgv2.f 000000000 ODODO
- 0ooooooooo

ekein=1.253 ! Incident particle kinetic energy
g

ekein=1.333 ! Incident particle kinetic energy
gooooo

- gboobboobobobbon

ekin = ekein
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call randomset(rnnow)
if(rnnow.le.0.5) then
ekin=1.173
else
ekin=1.333
end if

googooo
- gboobooboboobo

write(1,340) ekin
340  FORMAT(’ Results for ’,G15.5,’MeV photon’/)

O

write(1,340)
340  FORMAT(’ Results for Co-60 gamma-ray (1.173 and 1.333 MeV)’/)

googooo

e ucnaicgv2.f [0 egshrun 0 0 OO O O
oobb 400000 2s0000000000000DOODO0OODOOO

e "Does this user code read from the terminal?’0 00 0 1000000

e 0D DODODOO Oegsbjob.out OO T1.253MeVI O UOODOOODDOOOOO 200
gboobooooboboboobooobooboon

3.0000
e cp ucnaicgv.f ucnaicgv3.f
e cp ucnaicgv.data ucnaicgv3.data
e cp ucnaicgv.inp ucnaicgv3.inp
eucnaicgv3.f0U000OODOO0ODOODO
- 2r000000000000000000C000000

275 call randomset(rnnow)
ziO=rnnow
call randomset(rnnow)
xi0=2.0*rnnow-1.0
call randomset(rnnow)
yi0=2.0*rnnow-1.0
rrO0=dsqrt (xiO*xiO+yiO*yiO+zi0*z1i0)
if(rr0.gt.1.0) go to 275
win = zi0/rr0
uin = xi0/rr0
vin = yiO/rr0

gooo

e ucnaicgv3.f 0 egshrun O O OO O
ooob 400000 2s00000000000000000000000

e "Does this user code read from the terminal?’0 00 0 1000000
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e 0000000 OCGview”00UODOOOOOOOOYO Uegsbjob.pic0 OO0 OO
gbobobooboooboobobooo

ecgshjobout D000 OO0OOODOOODOOOOOOODO
O000: Peg=34+0.2%, Teg=9.0 4+ 0.3 %

4.00 200 Nal
e cp ucnaicgv.f ucnaicgvéd.f
e cp ucnaicgv.data ucnaicgv4.data
e cp ucnaicgv.inp ucnaicgv4.inp
eucnaicgv4 fOODOOOOOODOOODO

- oooooogo
tdet=7.62

tdet=7.62%2.0
gooooo
- oooobooooooooboobooooooocecGoooooooDpocGooon
gobobbobobooboboooboboboboobobobbooooooooon
Oob00ooobooo0ooobugbDOon Uucenaicgvddatal 000

R
A
Outer vacuum (region 6)
Air region (region 5)
Al Cover (region 3)
Gap (region 2)
Nal (region 1)
1. 253MeV 15. 74 .
Photon -5.6 -0.6-0.5 0.0 15./%4 20. 74
Quarz window
(region 4)

O 4: Geometry of ucnaicgv4.f

eucnaicgvd.data 00O O00ODODOOOODO
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RCC 1 0.00 0.0 0.0 0.00 0.
15.24 3.81

RCC 2 0.00 0.0 -0.5 0.00 0.
15.74 4.31
RCC 3 0.00 0.0 -0.6 0.00 0.
16.34 4.41
RCC 4 0.00 0.0 15.24 0.00 0.
0.5 4.31
RCC 5 0.00 0.0 -5.6 0.00 0.
26.34 9.41
RCC 6 0.0 0.0 -10.0 0.0 0.
36.74 12.0
END
Z1 +1
zZ2 +2 -1
Z3 +3 -2 -4
zZ4 +4
yAS) +5 -3
26 +6 -5
END

1 0 2 3 4 0

e 00U 0 ucnaicgvd.data0J 0 OO DO OO0
- CGviewO”O0OO0OO0OO0OOP0000000C0O0OO
- 0o0oooboooboboo"00000000700 Qucnaicgvd.datal0O 0000
- 000000 O0oo0ooooooooOooOoboboo0ooooon
- 7007’070000007000000

e ucnaicgv4.f 0 egshrun 0 0 0000
oobDbD 400000 25000000000000 CGviewD ODOODOOOOOODO

e "Does this user code read from the terminal?’0 000 1000000

eI 0O0DOOOCGiewD”O000OO00ODOODOOO”O Degsbjob.pic OO0 OO
obobooo 20000000000000DO

ecgshjobout DU DODOOOODOODODOODLOOODO
O0000: Peg=53.4 + 0.5%, Teg=93.9 £ 0.2 %

6.2. 00000

. cp ucnaicgv.f ucnaicgvb.f

. Ccp ucnaicgv.data ucnaicgvb.data
. Cp ucnaicgv.inp ucnaicgvb.inp
.ucnaicgvb fO0D0OO00O00O0OODOO

e JODOOD

O R

medarr(1)=’NAI ’

medarr(1)="GE ’
000000000 medarr 0000000024 0000000000000000O

5. ucnaicgvh.inp 0 0O 0O
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6.3.

COMP

&INP NE=2,RH0=3.67, PZ=1,1,IRAYL=1 /END
NAI NAI

NA I

g

ELEM

&INP IRAYL=1 /END

GE GE
GE

00000000 200GECOOOOO 310000000000000000)

. ucnaicgvb.f O egshrun0 0 OO DO O

oogoo400000 2500000000000000000000O00O00OO

. "Does this user code read from the terminal?’0 00 0 1000000
00000000 OegshjoboutD OO0 ONalDOOODOOOO

O000: Peg=39.6 + 0.5 %, Teg=87.3 +£ 0.3 %

goooo

1. cp ucnaicgv.f ucioncgv.f

2. cp ucnaicgv.data ucioncgv.data

3. cp ucnaicgv.inp ucioncgv.inp
4.ucioncgv.£00000DO0ODOODOODO

e UIDODOODOOODODODDOO

* xi0,y10,zi0

* x10,y10,zi0,avab,depes,depe2s,sigab
ooon
e IO IOOOOMONO

character*24 medarr(4)

O
character*24 medarr(2)
U,
nmed=4
O
nmed=2
ggoog

eJOOODDO

medarr(1)=’NAI
medarr(2)=’AL

medarr (3)=’QUARTZ
medarr(4)=’>AIR-AT-NTP

v v e e
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medarr(1)=’>AIR-AT-NTP ’
medarr(2)=’AL ’

gooo
eJUIDDODODODOOOODDOUON chaxrdDDOODODOO

chard(3) = 0.5d0
chard(4) = 5.0d40
ooogo

e JOUIDOOODODO

! Zero the variables

depe=0.D0

0

! Zero the variables
depe=0.D0
depes=0.D0
depe2s=0.D0

ggo

eI DOODODO 100,00000000

! Set histories
ncases=10000

O o

! Set histories
ncases=100000

googooo
e I0IDOO0OOLODODDOODLOOOOOODLOO

if (depe .gt. 0.DO) then
ie=depe/deltae + 1

0
if (depe .gt. 0.DO) then
depes=depes+depe
depe2s=depe2s+depe*depe
ie=depe/deltae + 1
ggo

eJO0D0ODDOOOODLDODODODLDOOOOULOODOODDOOOD

tdet=7.62

rdet=3.81

tcov=0.1

rtcov=0.1

tgap=0.5

rtgap=0.5

write(1,330) tdet,rdet,tcov,rtcov,tgap,rtgap
330  FORMAT(/’ Detector length=’,G15.5,’ cm’/
> Detector radius=’,G15.5,’ cm’/
> Al cover thickness=’,G10.2,’ cm’/
> Al cover side thickness=’,G10.2,’ cm’/
> Front gap =’,G10.2,’ cm’/’ Side gap =’,G10.2,’ cm’/)

* ¥ ¥ ¥
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tdet=7.62
rdet=3.81
tcov=0.5
rtcov=0.5
write(1,330) tdet,rdet,tcov,rtcov
330  FORMAT(/’ Detector length=’,G15.5,’ cm’/

* > Detector radius=’,G15.5,’ cm’/

* > Al cover thickness=’,G10.2,’ cm’/

* > Al cover side thickness=’,G10.2,’ cm’/)
oooooa

eJOUO0ODDOODOODODDODDOOOLDOODLODOOOOODDODODODO
gboboooooooboooon

avab = depes/ncount
depe2s = depe2s/ncount
sigab = sqrt((depe2s - avab*avab)/ncount)
write(6,362) avab,sigab
362  FORMAT(’ Absorbed energy in air =’,G10.3,°+-7,G9.2,’ MeV/photon’)
avab = avab /33.97D-6 #*1.602D-19
sigab= sigab /33.97D-6 *1.602D-19
write(6,364) avab,sigab
364  FORMAT(’ Output current =’,G10.3,°+-’,G9.2,’ C/photon’)

write(1,370)
oooood
5.ucioncgv.data0 O O 0OOOO0OOOOO

RCC 1 0.00 0.0 0.0 0.00 0.0
7.62 3.81

RCC 2 0.00 0.0 -0.5 0.00 0.0
8.62 4.31

RCC 3 0.00 0.0 -5.5 0.00 0.0
18.62 9.31

RCC 4 0.00 0.0 -6.0 0.00 0.0
20.62 10.31

END

Z1 +1

zZ2 +2 -1

Z3 +3 -2

zZ4 +4 -3

END

1 2 1 0

6.ucnioncgv.inpU 0 OOOOO0OO00OOO
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Outer vacuum (region 4)

Air region (region 3)

Al Cover (region 2)

Air (region 1)

1. 253MeV 13.12
.50.0 7.62 8.12

&
o ¥
S

Photon

O 5: Geometry of ucioncgv.f

MIXT

&INP NE=3,RHO= 1.2050E-03,RH0Z= 0.755,0.232,0.013,
GASP=0.93174, IRAYL=1 /END

ATR-AT-NTP ATR-GAS

N O AR

ENER

&INP AE=0.521,AP=0.010,UE=2.511,UP=2.0 /END

PWLF

&INP /END

DECK

&INP /END

ELEM

&INP IRAYL=1 /END

AL AL

&INP AE=0.521,AP=0.010,UE=2.511,UP=2.0 /END

&INP /END

&INP /END

7. ucioncgv.f O egsbrun DO DO OO0
00004000000 2000000000000000000000O0003
8. 7Does this user code read from the terminal?’0 00 0 1000000
.000D0O0D0ODDOCGrviewIDUODUOONOODLODLDOODODOO Uegsbhjob.pic0O OO OOO
00000 NalOOOODOOODODOODODODOOOOO
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10.egshjobout DO OO ODOOOODOOOOO0ODOOOOOOODOODOOOODDODOOLODODOODD

gobgogoogg

00000 Peg (%) 0.0

000 Ten (%) 1.4 + 0.4e-1
0000000 (MeV/y) 0.24e-3 4 0.9e-5
00 (C/y) 0.11e-17 + 0.4e-19

EREREEN

[1] T. Torii and T. Sugita, “Development of PRESTA-CG Incorprating Combinatorial Geometry
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(2002).

[2] T. Sugita, T. Torii, A. Takamura, “Incorporating Combinatorial Geometry to the EGS5 Code

and Its Speed-Up”, Twelfth EGS User’s Meeting in Japan, KEK Proc. 2005-10, 7-21, (KEK,
Tsukuba, 9 - 11 Aug. 2005).

25



Appendix 1 Full listings of ucnaicgv.f

1 s sk sk sk ok ok o ook sk sk sk ok s oo ok sk sk sksk sk ok sk ok s ok sk sk sk sk ok kok ok sk sk sk sk sk ki sk ok sk sk ok sk sk ok sk sk sk ok ok ok koskok ok ok ok ok ok
Vhokokokokokokokokokokokokok bbbk ok ok kkkkkkokokk - KEK, High Energy Accelerator Research *
Dok ok ok ok kR bRk ok kkkkkkkkx - Organization *
%% 1 cnaic¢ g Vo okckockokokokckkok %
1 s sk sk ok ok ok ok ok sk sk ok sk sk sk ook ok ok sk sk sk ok sk ok ko ok ok EGS5.0 USER CODE - 08 July 2006/1600 *
1 sk sk sk ok sk ok o ook sk sk sk ok s ok ok sk sk sk sk sk ok sk ok s ok sk sk sk sk ok kok ok sk sk sk sk sk ki sk ok sk sk ok sk sk ok sk sk sk ok ok ok kokok ok ok ok ok ok
'+ This is a general User Code based on the cg geometry scheme. *
1 sk sk sk ok ok ok o ook sk ok sk s ook ok sk sk sk sk sk ok sk ok s ok sk sk sk sk ok skok ok sk sk sk ok sk ok ok sk sk ok sk sk Sk sk sk sk ok ok ok kokok ok ok ok ok ok
! *
PROGRAMMERS: H. Hirayama

Applied Research Laboratory

KEK, High Energy Accelerator Research Organization

1-1, Oho, Tsukuba, Ibaraki, 305-0801

Japan

E-mail: hideo.hirayama@kek. jp
Telephone: +81-29-864-5451
Fax: +81-29-864-4051

Radiation Science Center

Applied Research Laboratory

KEK, High Energy Accelerator Research Organization
1-1, Oho, Tsukuba, Ibaraki, 305-0801

Japan

E-mail: yoshihito.namito@kek. jp
Telephone: +81-29-864-5489
Fax: +81-29-864-1993

HOR K K K KK KK KKK KKK KKK XK

i
!
]
]
]
]
]
]
]
;
! Y. Namito
]
]
]
]
]
]
!
]
]
]

*

0 ok ok sk sk ok o o o ok ok sk sk ok o o o sk sk o o ok sk ok o ok sk sk ok o ok sk sk sk o o ok sk sk ok o ok sk sk o ok ok sk o o ok stk o o o koo o o ok ok o o ok
0 ok ok sk sk oo o o ok ok sk sk ok o o ook sk ok o ok sk ok o ok sk sk ok o ok sk sk sk o o ok sk sk ok o ks sk o ok ok sk o o ok stk o o o ko o o ko ok ok ok
! The ucnaicgv.f User Code requires a cg-input file only

(e.g., ucnaicgv.data).

The following shows the geometry for ucnaicg.data.

InEut data for CG geometry must be written at the top of data-input
file toiether with material assignment to each region. Cg-data can
be checked by CGview.

This user code corresponds to ucnai3cgp.mor for egs4.

! Use Ranlux random number generator.

st sk ok o o o ok ok sk sk ok o o o ok sk o o ok sk o o o ks ok o o ok ok o o sk ok o o sk sk ok o ok sk sk ok o ook sk sk ok o ok sk sk ok o ok ok sk ko o ok ok

*

]
]

]

]

]

]

]

! R

i -

! |

! T————+————+————+ ———————— +-———— +——

]

! | Outer vacuum region

! + et = +———— + R=9.41
! Air

! et + + R=4.41
! | Al cover |

! + + Fom -t + R=4.31
! | | | Gap | |

! + + + + Fm————— + o+ + R=3.81
! | | | |Quartz |

! || | Nar | | |

! 1.263 MeV [ [ | | | |

| ===——=——=———===3——f———————————— — — P B, f——_—— > 7
! photons -5.6 -0.6 -0.5 0.0 7.62 8.12 13.12

] -

i 5.0

]

HOR K KK KK KK KKK KK KR KRR KR KR KRR KK KK KR KK R

i
1 sk sk ok sk ok sk ok sk ok sk ok sk ok sk ook o ook o sk ok sk ok o o ok sk ok sk ok o ok sk sk ok ok ok sk ook sk ok o ok ok ok ok ok ook ok ok ok ok
123456789 123456789 123456789 123456789 | 123456789| 123456789 12345678912

implicit none
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D kokok ok

include ’include/egs5_h.f’ ! Main EGS '"header" file

include ’include/egs5_bounds.f’
include ’include/egs5_brempr.f’
include ’include/egsb5_edge.f’
include ’include/egs5_media.f’
include ’include/egs5_misc.f’
include ’include/egs5_thresh.f’
include ’include/egs5_uphiot.f’
include ’include/egs5_useful.f’
include ’include/egs5_usersc.f’
include ’include/egs5_userxt.f’
include ’include/randomm.f’

include ’auxcommons/aux_h.f’ ! Auxiliary-code '"header'" file

include ’auxcommons/edata.f’
include ’auxcommons/etalyl.f’
include ’auxcommons/instuf.f’
include ’auxcommons/lines.f’
include ’auxcommons/nfac.f’

include ’auxcommons/watch.f’

include ’auxcommons/etaly2.f’ ! Added SJW for energy balance

include ’auxcommons/geom_common.f’ ! geom-common file
integer irinn

common/totals/ ! Variables to score
* depe,deltae,spec(3,50),maxpict

real*8 depe,deltae,spec

integer maxpict

real*8 ! Arguments
real*8 totke

real*8 rnnow,etot

real*8 esumt

real*8 ! Local variables
* availke,avpe,avph,avspe,avspg,avspp,avte,desci2,ekin,pefs,pefls,
* rrO,sigpe,sigte,sigph,sigspg,sigspe,sigspp,tefs,tef2s,wtin,wtsum,
* xi10,y10,z10

real*8
* phs(50),ph2s(50),specs(3,50),spec2s(3,50)

real ! Local variables
* elow,eup,rdet,rtcov,rtgap,tcov,tdet,tgap

real
* tarray(2),tt,tt0,ttl,cputime

integer
* j,icases,idin,je,ifti,ifto,ii,iiz,imed,ireg,isam,
* izn,nlist,j,k,n,ner,ntype

character*24 medarr(4)

Units 7-26 are used in pegs and closed. It is better not
to use as output file. If they are used, they must be opened
after getcg etc. Unit for pict must be 39.

open(6,FILE="egsb5job.out’,STATUS="unknown’)
open(4,FILE="egs5job.inp’,STATUS="0l1ld’)
open(39,FILE="egs5job.pic’,STATUS=unknown’)
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call counters_out(0)

call block_set ! Initialize some general variables

medarr(1)="NAI
medarr(2)=’AL
medarr(3)="QUARTZ
medarr(4)=’AIR-AT-NTP

do j=1,nmed

do i=1,24

media(i,j)=medarr(j)(i:1i)

end do
end do
chard(1) = 7.62d0 ! automatic step-size control
chard(2) = 0.1d0
chard(3) = 0.5d0
chard(4) = 5.0d0

write(6,*) ’chard =’,(chard(j),j=1,nmed)

write(8,100)
100 FORMAT(’ PEGS5-call comes next’/)

npreci=3 ! PICT data mode for CGView in free format
ifti = 4 ! Input unit number for cg—data
ifto = 39 ! Output unit number for PICT

write(8,fmt="(’ CG data’)")
call geomgt(ifti,6) ! Read in CG data
write(8,fmt="(’ End of CG data’,/)")

if (npreci.eq.3) write(ifto,fmt="(’CSTA-FREE’)")
if (npreci.eq.2) write(ifto,fmt="(’CSTA’)")

rewind ifti
call geomgt(ifti,ifto)! Dummy call to write geom info for ifto

write(ifto,110)
110 FORMAT(’CEND’)

nreg=izonin

! Read material for each refion from egs5job.data
read(4,*) (med(i),i=1,nreg)

! Set option except vacuum region
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120

do i=1,nreg-1
if(med(i).ne.0) then

iphter(i) =1 ! Switches for PE-angle sampling
iedgfl(i) =1 ! K & L-edge fluorescence
iauger(i) = 0 ! K & L-Auger
iraylr(i) = 0 ! Rayleigh scattering
lpolar(i) = 0 ! Linearly-polarized photon scattering
incohr(i) = 0 ! S/Z rejection
iprofr(i) = 0 ! Doppler broadening
impacr(i) = 0 ! Electron impact ionization
end 1if
end do

Random number seeds. Must be defined before call hatch
or defaults will be used. inseed (1- 2731)
luxlev = 1
inseed=1
write(6,120) inseed
FORMAT(/,’ inseed=’,I12,5X,
> (seed for generating unique sequences of Ranlux)’)

call rluxinit ! Initialize the Ranlux random-number generator

| Define initial variables for incident particle normally incident
! on the slab

iqin=0 ! Incident particle charge - photons
ekein=1.2563 ! Incident particle kinetic energy

xin=0.0 ! Source position

yin=0.0

zin=-5.0

uin=0.0 ! Moving along z axis

vin=0.0

win=1.0

irin=0 ! Starting region (0: Automatic search in CG)
wtin=1.0 ! Weight = 1 since no variance reduction used

pdf data for many source
deltae=0.05 ! Energy bin of response

if(irin.le.0.or.irin.gt.nreg) then
call srzone(xin,yin,zin,iqin+2,0,irin)
call rstnxt(iqin+2,0,irin)

end if

! Maximum total energy of an electron for this problem must be
! defined before hatch call

130

emaxe = ekein + RM ! photon

write(8,130)
format(/’ Call hatch to get cross-section data’)

open(UNIT=KMPI,FILE="pgs5job.pegsbdat’,STATUS="01ld’)
open(UNIT=KMPO,FILE="egs5job.dummy’ ,STATUS=unknown’)

write(8, 140)
FORMAT(/,’ HATCH-call comes next’,/)
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! Close files (after HATCH call)

close(UNIT=KMPI)
close(UNIT=KMPO)

| Print various data associated with each media (mot region)

/I -_-—
write(8,150)

150 FORMAT(/,’ Quantities associated with each MEDIA:’)

do j=1,nmed
write(6,160) (media(i,j),i=1,24)
160 FORMAT(/,1X,2441)
write(6,170) rhom(j),rlcm(j)
170 FORMAT(5X,’ rho=’,G15.7,’ g/cu.cm rle=’,G15.7,’ cm’)
write(6,180) ae(j),ue(j)
180 FORMAT(5X,’ ae=’,G15.7,’ MeV  ue=’,G15.7,’ MeV’)
write(6,190) ap(j),up(j)
190 FORMAT(SX,’ ap=’,G15.7,’ MeV  up=’,G15.7,’ MeV’,/)
end do

| Print media and cutoff energies assigned to each region
/I - — -

do i=1,nreg
if (med(i) .eq. 0) then
write(6,200) i

200 FORMAT(’ medium(’,I3,’)=vacuum’)
else
write(6,210) i, (media(ii,med(i)),ii=1,24),ecut(i),pcut(i)
210 FORMAT(’ medium(’,I3,’)=’,24A1,
* ’ecut=’,G10.5,’ MeV, pcut=’,G10.5,’ MeV’)

if (iedgfl(i) .ne. 0) then ! Qutput X-ray energy
ner = nne(med(i))
do iiz=1,ner
izn = zelem(med(i),iiz) ! Atomic number of this element
write(6,220) izn
220 FORMAT(’®  X-ray information for Z=’,I3)
write(6,230) (ekx(ii,izn),ii=1,10)
230 FORMAT(®  K-X-ray energy in keV’,/,
* 4G15.5,/,4G15.5,/,2G15.5)
write(6,240) (elx1(ii,izn),ii=1,8)
240 FORMAT(’ L-1 X-ray in keV’,/,4G15.5,/,4G15.5)
write(6,250) (elx2(ii,izn),ii=1,5)
250 FORMAT(’ L-2 X-ray 1in keV’,/,5G15.5)
write(6,260) (elx3(ii,izn),ii=1,7)
260 FORMAT(’ L-3 X-ray in keV’,/,4G15.5,/,3G15.5)
end do
end if
end if
end do
write(8,fmt="(’ CG data’)")

write(39,fmt="(’MSTA’)")
write(39,fmt="(i4)") nreg
write(39,fmt="(16i4)") (med(i),i=1,nreg)
write(39,fmt="(’MEND’)")

ncount
ilines
nwrite
nlines
idin =
totke
wtsum

OO

==
OO

call ecnsv1(0,nreg,totke)
call ntally(0,nreg)
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270

! Step 8:

*
*

write(68,270)

format(/,’ Energy/coordinates/direction cosines/etc.’,/,
6X,’e’,16X, x’,14X,’y’ 14X,z /
1X,’u’,14X,’v’,14X,’w’,9%, ’iq’,4X, ’ir’,3X, ’iarg’,/)

Energy bin width
deltae=ekein / 50

Zero the variables
depe=0.D0
pefs=0.D0
pef2s=0.D0
tefs=0.D0
tef25=0.D0
do j=1,50
phs(j)=0.DO
ph2s(j)=0.D0
do ntype=1,3
spec(ntype, j)=0.DO0
specs(ntype,j)=0.D0
spec2s(ntype, j)=0.D0
end do
end do

Set histories

ncases=10000

Set maximum number for pict
maxpict=50

tt=etime(tarray)
ttO=tarray(1)

Write batch number

write(39,fmt="(’0 1))

do i=1,ncases

wtsum = wtsum + wtin
etot = ekin + iabs(iqin)*RM
if(iqin.eq.1) then
availke = ekin + 2.0%RM
else
availke =
end if

ekin

totke = totke + availke

Initialize some energy-balance
tallying parameters (SJW)

! Keep running sum of weights
! Incident total energy (MeV)

Available K.E. (MeV) in system
for positron

Available K.E. (MeV) in system
for photon and electron

! Keep running sum of KE

if (ncount .le. nwrite .and. ilines .le. nlines) then

ilines = ilines + 1

write(6,280) etot,xin,yin,zin,uin,vin,win,iqin,irin,idin

FORMAT(4G15.7/3G15.7,3I5)
end if

call shower (iqin,etot,xin,yin,zin,uin,vin,win,irin,wtin)

Added for energy balance tests (SJW)
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if (DABS(eparte + epartd - availke)/availke .gt. 1.d-10) then
write(6,290) icases, eparte, epartd
290 FORMAT(’Error on # ’,I6,’ Escape = ’,F9.5,
* > Deposit = ’,F9.5)
end if

! If some energy is deposited inside detector add pulse-height
! and efficiency.

if (depe .gt. 0.D0) then
ie=depe/deltae + 1
if (ie .gt. 50) ie =50
phs(ie)=phs(ie)+wtin
ph2s(ie)=ph2s(ie)+wtin*wtin
tefs=tefs + wtin
tef2s=tef2s + wtin*wtin
if(depe .ge. ekeinx*0.999) then
pefs=pefs +wtin
pef2s=pef2s +wtin
end if
depe = 0.DO
end 1if
do ntype=1,3
do 1e=1,50
specs(ntype,ie)=specs(ntype,ie)+spec(ntype,ie)
spec2s(ntype,ie)=spec2s(ntype,ie)+

* spec(ntype,ie)*spec(ntype,ie)
spec(ntype,ie)=0.D0
end do
end do
ncount = ncount + 1 ! Count total number of actual cases
! _______________________
end do ! End of CALL SHOWER loop

call plotxyz(99,0,0,0.D0,0.D0,0.D0,0.D0,0,0.D0)
write(39,fmt="(’9’)") ! Set end of batch for CG View

tt=etime(tarray)
tti=tarray(1)
cputime=tt1-tt0
write(6,300) cputime
300 format(’ Elapsed Time (sec)=’,G15.5)

write(6,310) ncount,ncases,totke
310  FORMAT(/,’ Ncount=’,I10,’ (actual cases run)’,/,
* > Ncases=’,I110,’ (number of cases requested)’,/,

* > TotKE =’,G15.5,’ (total KE (MeV) in run)’)

if (totke .le. 0.D0O) then
write(6,320) totke,availke,ncount
320 FORMAT(//,’ Stopped in MAIN with TotKE=’,G15.5,/,
* > AvailKE=’,G15.5, /,’ Ncount=’,I10)
stop
end if

tdet=7.62

rdet=3.81

tcov=0.1

rtcov=0.1

tgap=0.5

rtgap=0.5

write(6,330) tdet,rdet,tcov,rtcov,tgap,rtgap
330 FORMAT(/’ Detector length=’,G15.5,’ cm’/
> Detector radius=’,G15.5,’ cm’/
> Al cover thickness=’,G10.2,’ cm’/
> Al cover side thickness=’,G10.2,’ cm’/
> Front gap =’,G10.2,’ cm’/’ Side gap =’,G10.2,’ cm’/)

* ¥ ¥ ¥

write(6,340) ekin
340 FORMAT(’ Results for ’,G15.5,’MeV photon’/)
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350

360

370

380

390

400

Calculate average and its deviation

avpe = pefs/ncount

pef2s=pef2s/ncount

sigpe=dsqrt ((pef2s-avpe*avpe)/ncount)

avpe = avpe*100.0

sigpe = sigpe*100.0

write(6,350) avpe,sigpe

FORMAT(’ Peak efficiency =’,G11.4,°+-’,G9.2,’ %’)

avte = tefs/ncount

tef2s = tef2s/ncount

sigte = dsqrt((tef2s-avte*avte)/ncount)

avte = avte*x100.0

sigte = sigte*100.0

write(6,360) avte,sigte

FORMAT(’ Total efficiemcy =’,G11.4,°+-’,G9.2,’ %’)

write(8,370
FORMAT(/’ Pulse height distribution ’)
do ie=1,50

elow=deltae*(ie-1)

eup=deltaex*ie

if (elow .gt. ekein ) go to 390

avph = phs(ie)/ncount
ph2s(ie)=ph2s(ie)/ncount

sigph=dsqrt ((ph2s(ie)-avph*avph)/ncount)
avph = avph/deltae

sigph= sigph/deltae

write(6,380) eup,avph,sigph

FORMAT(’ E (upper-edge —-’,G10.4,’ MeV )=’,G15.5,’+-’,G15.5,
* > counts/MeV/incident’);

end do

continue

write(68,400)
FORMAT(/’ Particle spectrum crossing the detector plane’/

* 30X, ’particles/MeV/source photon’/

* > Upper energy’,11X,’ Gamma’,18X,’ Electron’,
* 14X,’ Positron’)

do ie=1,50

elow=deltae*(ie-1)
eup=deltaex*ie
if (elow .gt. ekein ) go to 420

avspg = specs(1l,ie)/ncount
spec2s(1,ie)=spec2s(1,ie)/ncount
sigspg=dsqrt((spec2s(1,ie)-avspg*avspg)/ncount)
avspg=avspg/deltae

sigspg= sigspg/deltae

avspe = specs(2,ie)/ncount
spec2s(2,ie)=spec2s(2,ie)/ncount
sigspe=dsqrt((spec2s(2,ie)-avspe*avspe)/ncount)
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avspe= avspe/deltae
sigspe= sigspe/deltae

avspp = specs(3,ie)/ncount

spec2s(3,ie)=spec2s(3,ie)/ncount

sigspp=dsqrt((spec2s(3,ie)-avspp*avspp)/ncount)

avspp= avspp/deltae

sigspp= sigspp/deltae

write(6,410) eup,avspg,sigspg,avspe,sigspe,avspp,sigspp
410 FORMAT(G10.5,’ MeV--’,3(G12.5,’+-?,G12.5))

end do

420 continue

nlist=1

call ecnsvi(nlist,nreg,totke)
call ntally(nlist,nreg)

call counters_out(1)

| Version: 030831-1300
| Reference: SLAC-265 (p.19-20, Appendix 2)

A AUSGAB to:

2) Score particle information enter to detector from outside
3) Print out particle transport information

|
!
! 1) Score energy deposition
!
!
! 4) call plotxyz if imode=0

subroutine ausgab(iarg)
implicit none
include ’include/egs5_h.f’ ! Main EGS '"header" file

include ’include/egs5_epcont.f’ ! COMMONs required by EGS5 code
include ’include/egs5_misc.f’

include ’include/egs5_stack.f’

include ’include/egs5_useful.f’

include ’auxcommons/aux_h.f’ ! Auxiliary-code '"header'" file

include ’auxcommons/etalyl.f’ ! Auxiliary-code COMMONs

include ’auxcommons/lines.f’
include ’auxcommons/ntalyl.f’

include ’auxcommons/watch.f’
include ’auxcommons/etaly2.f’ ! Added SJW for energy balance

common/totals/ ! Variables to score
* depe,deltae,spec(3,50),maxpict

real*8 depe,deltae,spec

integer maxpict
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integer ! Arguments
* iarg

real*8 ! Local variables
* edepwt

integer
* je,iql,irl,ntype

irl = ir(ap)
iql = iq(np)
edepwt = edep#*wt(np)

if (iarg .1t. 5) then
esum(iql+2,irl,iarg+1)
nsum(iql+2,irl,iarg+1)

esum(iql+2,irl,iarg+1l) + edepwt
nsum(iql+2,irl,iarg+l) + 1

added SJW for particle by particle energy balance
if(irl.eq.nreg) then
eparte = eparte + edepwt
else
epartd = epartd + edepwt
endif
end if

if (med(irl). eq. 1) then
depe = depe + edepwt

if (irl .ne. irold .and. iarg .eq. 0) then
if (iql .eq. 0) then ! photon
ntype=1
ie = e(np)/deltae +1
if(ie .gt. 50) ie = 50
elseif (iql .eq. -1) then I electron
ntype=2
ie = (e(np) - RM)/deltae +1
if(ie .gt. 50) ie = 50
else ! positron
ntype=3
ie = (e(np) - RM)/deltae +1
if(ie .gt. 50) ie = 50
end if
spec(ntype,ie) = spec(ntype,ie) + wt(np)
end if
end if

if (ncount .le. nwrite .and. ilines .le. nlines) then
ilines = ilines + 1
write(6,100) e(np),x(np),y(np),z(np),ulnp),v(np),w(np),
* iql,irl,iarg

100 FORMAT(4G15.7/3G15.7,315)

end if

Output particle information for plot
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if (ncount.le.maxpict) then
call plotxyz(iarg,np,iq(np),x(np),y(np),z(np),e(np),ir(np),

* wt(np))
end if

return
end

e last line of ausgab.f-———————"—-—-—-----------—
b howfar.f---------\-------—-
Version: 060620-1400
Reference: T. Torii and T. Sugita, "Development of PRESTA-CG

|
!
! Incorporating Combinatorial Geometry in EGS4/PRESTA", JNC TN1410 2002-201,
! Japan Nuclear Cycle Development Institute (2002).

! Improved version is provided by T. Sugita. 7/27/2004

subroutine howfar
implicit none

include ’include/egs5_h.f’ ! Main EGS '"header" file
include ’include/egs5_epcont.f’ ! COMMONs required by EGS5 code
include ’include/egs5_stack.f’

include ’auxcommons/geom_common.f’ ! geom-common file

integer i,j,jjj,ir_np,nozone, jty,kno

inte§er irnear,irnext,irlold,irlfg,itvlfg,ihitcg

double precision xidd,yidd,zidd,x_np,y_np,z_np,u_np,v_np,Ww_np
double precision tval,tvalO,tval00,tvallO,tvalmn,delhow
double precision atvaltmp

integer iq_np

ir(np)
iq(np) + 2

ir_np
iq_np
if(ir_np.le.0) then

write(6,*) ’Stopped in howfar with ir(np) <=0’

stop
end if

if(ir_np.gt.izonin) then
write(6,*) ’Stopped in howfar with ir(np) > izonin’
stop

end if

if(ir_np.EQ.izonin) then
idisc=1
return

end if

tval=1.d4+30
itvalm=0

c body check
u_np=u(np)
v_np=v(np)
w_np=w(np)
x_np=x(np)
y-np=y(np)
z_np=z(np)

do i=1,nbbody(ir_np)
nozone=ABS(nbzone(i,ir_np))
jty=itblty(nozone)
kno=itblno(nozone)
c rpp check
if(jty.eq.ityknd(1)) then
if(kno.le.0.or.kno.gt.irppin) go to 190
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CHkKK

190

310

320

call rppcgl(kno,x_np,y_np,z_np,u_np,v_np,w_np)
sph check
elseif (jty.eq.ityknd(2)) then
if(kno.le.0.or.kno.gt.isphin) go to 190
call sphcgl(kno,x_np,y_np,z_np,u_np,v_np,w_np)
rcc check
elseif (jty.eq.ityknd(3)) then
if(kno.le.0.or.kno.gt.irccin) go to 190
call rcccgl(kno,x_np,y_np,z_np,u_np,v_np,w_np)
trc check
elseif (jty.eq.ityknd(4)) then
if(kno.le.0.or.kno.gt.itrcin) go to 190
call trccgi(kno,x_np,y_np,z_np,u_np,v_np,w_np)
tor check
elseif (jty.eq.ityknd(5)) then
if(kno.le.0.or.kno.gt.itorin) go to 190
call torcgl(kno,x_np,y_np,z_np,u_np,v_np,w_np)
rec check
elseif (jty.eq.ityknd(6)) then
if(kno.le.0.or.kno.gt.irecin) go to 190
call reccgl(kno,x_np,y_np,z_np,u_np,v_np,w_np)
ell check
elseif (jty.eq.ityknd(7)) then
if(kno.le.0.or.kno.gt.iellin) go to 190
call ellcgi(kno,x_np,y_np,z_np,u_np,v_np,w_np)
wed check
elseif (jty.eq.ityknd(8)) then
if(kno.le.0.or.kno.gt.iwedin) go to 190
call wedcgl(kno,x_np,y_np,z_np,u_np,v_np,w_np)
box check
elseif (jty.eq.ityknd(9)) then
if(kno.le.0.or.kno.gt.iboxin) go to 190
call boxcgl(kno,x_np,y_np,z_np,u_np,v_np,w_np)
arb check
elseif(jty.eq.ityknd(10)) then
if(kno.le.0.or.kno.gt.iarbin) go to 190
call arbcgl(kno,x_np,y_np,z_np,u_np,v_np,w_np)
hex check
elseif (jty.eq.ityknd(11)) then
if(kno.le.0.or.kno.gt.ihexin) go to 190
call hexcgl(kno,x_np,y_np,z_np,u_np,v_np,w_np)
haf check
elseif (jty.eq.ityknd(12)) then
if(kno.le.0.or.kno.gt.ihafin) go to 190
call hafcgl(kno,x_np,y_np,z_np,u_np,v_np,w_np)
tec check
elseif (jty.eq.ityknd(13)) then
if(kno.le.0.or.kno.gt.itecin) go to 190
call teccgl(kno,x_np,y_np,z_np,u_np,v_np,w_np)

add new geometry in here

end if
continue
end do

irnear=ir_np

if(itvalm.eq.0) then
tvalO=cgepsi
xidd=x_np+tvalO*u_np
yidd=y_np+tvalO*v_np
zidd=z_np+tvalO*w_np
continue

if(x_np.ne.xidd.or.y_np.ne.yidd.or.z_np.ne.zidd) goto 320

tvalO=tvalO*10.d0
xidd=x_np+tvalO*u_np
yidd=y_np+tvalO*v_np
zidd=z_np+tvalO*w_np
go to 310
continue
write(*,*) ’srzone:1’
call srzone(xidd,yidd,zidd,iq _np,ir_np,irnext)

if (irnext.ne.ir_np) then
tval=0.0d0
irnear=irnext

else
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tval00=0.0d0

tvall0=10.0d0*tval0

irlold=ir_np

irlfg=0

330 continue

if(irlfg.eq.1) go to 340
tval00=tvalO00+tvalil
if(tval00.gt.1.0d+06) then

write(6,9000) iq(np),ir(np),x(np),y(np),z(np),

& u(np),v(np),w(np),tvalo0
9000 format(’ TVALOO ERROR : iq,ir,x,y,z,u,v,w,tval=’,
& 213,1P7E12.5)
stop
end if

xidd=x_np+tval00*u_np
yidd=y_np+tval00*v_np
zidd=z_np+tval00*w_np
call srzold(xidd,yidd,zidd,irlold,irlfg)
go to 330

340 continue

tval=tvalO0
do j=1,10
x1dd=x_np+tvalO0*u_np
yidd=y_np+tval00*v_np
zidd=z_np+tval00*w_np
write(*,*) ’srzone:2’
call srzone(xidd,yidd,zidd,iq_np,irlold,irnext)
if (irnext.ne.irlold) then
tval=tvalO0
irnear=irnext
end if
tval00=tval00-tvalO
end do
if(ir_np.eq.irnear) then
write(0,#*) ’ir(np),tval=’,ir_np,tval
end if
end if
else
do j=1,itvalm-1
do i=j+1,itvalm
if(atval(i).lt.atval(j)) then
atvaltmp=atval(i)
atval(i)=atval(j)
atval(j)=atvaltmp
endif
enddo
enddo
itvlfg=0
tvalmn=tval
do jjj=1,itvalm
if(tvalmn.gt.atval(jjj)) then
tvalmn=atval(jjj)
end if
delhow=cgeps2
tvalO=atval(jjj)+delhow
xidd=x_np+tvalO*u_np
yidd=y_np+tvalO*v_np
zidd=z_np+tvalO*w_np
410 continue
if(x_np.ne.xidd.or.y_np.ne.yidd.or.z_np.ne.zidd) go to 420
delhow=delhow*10.d0
tvalO=atval(jjj)+delhow
xidd=x_np+tvalO*u_np
yidd=y_np+tvalO*v_np
zidd=z_np+tvalO*w_np
go to 410
420 continue
write(*,*) ’srzone:3’
call srzone(xidd,yidd,zidd,iq_np,ir_np,irnext)
if((irnext.ne.ir_np.or.atval(jjj).ge.1.).and.
& tval.gt.atval(jjj)) THEN
tval=atval(jjj)
irnear=irnext
itvlf§=1
oto 425
end if
end do
425 continue
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if(itvlfg.eq.0) then
tvalO=cgmnst
xidd=x_np+tvalO*u_np
yidd=y_np+tvalO*v_np
zidd=z_np+tvalO*w_np
430 continue
if(x_np.ne.xidd.or.y_np.ne.yidd.or.z_np.ne.zidd) go to 440
tvalO=tval0#*10.40
xidd=x_np+tvalO*u_np
yidd=y_np+tvalO*v_np
zidd=z_np+tvalO*w_np
go to 430
440 continue
if(tvalmn.gt.tvalO0) then
tval=tvalmn
else
tval=tvalO
end if
end if
end if
ihitcg=0
if(tval.le.ustep) then
ustep=tval
ihitcg=1
end if
if(ihitcg.eq.1) THEN
if (irnear.eq.0) THEN
write(6,9200) iq(np),ir(np),x(np),y(np),z(np),
& u(np),v(np),w(np),tval
9200 format(’ TVAL ERROR : iq,ir,x,y,z,u,v,w,tval=’,2I3,1P7E12.5)
idisc=1
itverr=itverr+1
if(itverr.ge.100) then
stop
end if
return
end if
irnew=irnear
if (irnew.ne.ir_np) then
call rstnxt(iq_np,ir_np,irnew)
endif
end if
return
end

Appendix 1-14




<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /All
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Warning
  /CompatibilityLevel 1.4
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJDFFile false
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /DetectCurves 0.0000
  /ColorConversionStrategy /LeaveColorUnchanged
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveDICMYKValues true
  /PreserveEPSInfo true
  /PreserveFlatness true
  /PreserveHalftoneInfo false
  /PreserveOPIComments false
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /CropColorImages true
  /ColorImageMinResolution 300
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /CropGrayImages true
  /GrayImageMinResolution 300
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /CropMonoImages true
  /MonoImageMinResolution 1200
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /CheckCompliance [
    /None
  ]
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputConditionIdentifier ()
  /PDFXOutputCondition ()
  /PDFXRegistryName ()
  /PDFXTrapped /False

  /Description <<
    /CHS <FEFF4f7f75288fd94e9b8bbe5b9a521b5efa7684002000500044004600206587686353ef901a8fc7684c976262535370673a548c002000700072006f006f00660065007200208fdb884c9ad88d2891cf62535370300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c676562535f00521b5efa768400200050004400460020658768633002>
    /CHT <FEFF4f7f752890194e9b8a2d7f6e5efa7acb7684002000410064006f006200650020005000440046002065874ef653ef5728684c9762537088686a5f548c002000700072006f006f00660065007200204e0a73725f979ad854c18cea7684521753706548679c300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c4f86958b555f5df25efa7acb76840020005000440046002065874ef63002>
    /DAN <>
    /DEU <>
    /ESP <>
    /FRA <>
    /ITA <>
    /JPN <>
    /KOR <FEFFc7740020c124c815c7440020c0acc6a9d558c5ec0020b370c2a4d06cd0d10020d504b9b0d1300020bc0f0020ad50c815ae30c5d0c11c0020ace0d488c9c8b85c0020c778c1c4d560002000410064006f0062006500200050004400460020bb38c11cb97c0020c791c131d569b2c8b2e4002e0020c774b807ac8c0020c791c131b41c00200050004400460020bb38c11cb2940020004100630072006f0062006100740020bc0f002000410064006f00620065002000520065006100640065007200200035002e00300020c774c0c1c5d0c11c0020c5f40020c2180020c788c2b5b2c8b2e4002e>
    /NLD (Gebruik deze instellingen om Adobe PDF-documenten te maken voor kwaliteitsafdrukken op desktopprinters en proofers. De gemaakte PDF-documenten kunnen worden geopend met Acrobat en Adobe Reader 5.0 en hoger.)
    /NOR <>
    /PTB <>
    /SUO <>
    /SVE <>
    /ENU (Use these settings to create Adobe PDF documents for quality printing on desktop printers and proofers.  Created PDF documents can be opened with Acrobat and Adobe Reader 5.0 and later.)
  >>
  /Namespace [
    (Adobe)
    (Common)
    (1.0)
  ]
  /OtherNamespaces [
    <<
      /AsReaderSpreads false
      /CropImagesToFrames true
      /ErrorControl /WarnAndContinue
      /FlattenerIgnoreSpreadOverrides false
      /IncludeGuidesGrids false
      /IncludeNonPrinting false
      /IncludeSlug false
      /Namespace [
        (Adobe)
        (InDesign)
        (4.0)
      ]
      /OmitPlacedBitmaps false
      /OmitPlacedEPS false
      /OmitPlacedPDF false
      /SimulateOverprint /Legacy
    >>
    <<
      /AddBleedMarks false
      /AddColorBars false
      /AddCropMarks false
      /AddPageInfo false
      /AddRegMarks false
      /ConvertColors /NoConversion
      /DestinationProfileName ()
      /DestinationProfileSelector /NA
      /Downsample16BitImages true
      /FlattenerPreset <<
        /PresetSelector /MediumResolution
      >>
      /FormElements false
      /GenerateStructure true
      /IncludeBookmarks false
      /IncludeHyperlinks false
      /IncludeInteractive false
      /IncludeLayers false
      /IncludeProfiles true
      /MultimediaHandling /UseObjectSettings
      /Namespace [
        (Adobe)
        (CreativeSuite)
        (2.0)
      ]
      /PDFXOutputIntentProfileSelector /NA
      /PreserveEditing true
      /UntaggedCMYKHandling /LeaveUntagged
      /UntaggedRGBHandling /LeaveUntagged
      /UseDocumentBleed false
    >>
  ]
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [612.000 792.000]
>> setpagedevice


